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6-12-1 RS CEIOHMDO LA

B 1] kD & ICHTITELEZELEL & 9,

wo( b THEIHREEZEL LD,

O 2km=( Jm=( )dm=( Jem=( Jmm

@ ( Jkm=50m = ( )dm=( Jem=( )mm
@ ( Jkm=( )m=( )dm =80 cm=( )mm
@ ( Jkm=( ) m=( )dm=( )em= 300 mm
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S LT F R INFASEAE

) fE ChTREIREELEL LD,

wo( b THEIHREEZEL LD,

@O 8ke=( )g=( )dg=( Jeg=( )mg

@ ( )kg=600g=( )dg=( Jeg=( Jmg
@ ( ke =( )g=( )dg=9000cg=( mg
@ ( ke =( )g=( Ydg=( )eg=6000 mg
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wo( b TEELIREEAEL LD,

O 8km=( Jm=( )dm=( Jem=( )mm

@ ( Ykm=250m = ( )dm=( Jem = ( )mm
@ ( Ykm=( Jm=( )dm = 17850 cm = ( )mm
@ ( Ykm=( ) m=( )dm=( )em=3772 mm

wo( b THEIHREEZEL LD,

@O 10 ke=( )g=( )dg=( Jeg=( )mg

@ ( kg =520g=( )dg=( Jeg=( )mg
@ ( Ykg=( )g=( )dg=168cg=( Jmg
@ ke =( )g=( )dg=( )eg=8520 mg

3/4



B E TR EINEAEA v
o HE A
T RE AR

O 8 km=(8000)m=(80000)dm =(800000)cm = (8000000)mm

@  (0.25)km=250m=(2500)dm = (25000)cm = (250000)mm

®  (0.0785)kmn=(78.5)m=(785)dm="7850 cmn=(78500)mm

@  (0.003772)km=(3.772) m=(37.72)dm=(377.2)cm=3772 mm

@D 10 ke=(10000)g=(100000)dg=(1000000)cg=(10000000)mg

@  (0.52)keg =520g=(5200)dg = (52000)cg = (520000)mg

@  (0.00168)kg=(1.68)g=(16.8)dg=168cg=(1680)mg

@  (0.00852)kg=(8.52)g=(85.2)dg=(852)cg = 8520 mg
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